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11.26 USA Today reported on when the decision of
what to have for dinner is made. Suppose the results were
based on a survey of 1,000 respondents and considered
whether the household included any children under 18
years old. The results are cross-classified in the following
table:
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12.3 Fitting a straight line to a set of data yields the follow-
ing prediction line:

¥, =16 — 0.5X;
a. Interpret the meaning of the Y intercept, by.

b. Interpret the meaning of the slope, b;.
c¢. Predict the value of ¥ for X = 6.
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At the 0.05 level of significance, is there evidence of a
INEEOEHOUSEHOR significant relationship between when the decision is made
Two or Two or of what to have for dinner and the type of household?

One More More
WHEN DECISION Adult/No  Adults/  Adults/No
MADE Children  Children  Children
Just before eating 162 54 154
In the afternoon 73 38 69
In the morning 59 58 53
A few days before 21 64 45
The night before 15 50 45
Always eat the same 2 16 2
thing on this night
Not sure 7 6 7

Source: Data extracted from “What's for Dinner,” www.usatoday.com,
January 10, 2000.
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